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CHECK YOUR PROGRESS
Select the correct option.

1. This flower has:

w

. Straight and curve lines
. Straight lines

o

()

. Lines with squares

2. These are perpendicular lines because:

jol}

. They have the same direction
. They meet and intersect |
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b
c. They don't have lines I
3. Is this a segment line?
a. Yes
b. No
c. Is a curve line
4. Parallel lines are:
L . o
Y a. Lines that never join
Q‘k b. They meet and intersect
Q‘% c. They don't have lines
-
%"&
N 5. Is this a ray?
A
L
%\g‘_ a. Itis a segment
q”'}\.—‘ b. It is a curve
%"\E‘ c. It is a parallel
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